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�40x2 ��%& 30245-2003
%245 ��%& 27772-2021 L= 700 20 1,62 32,4

�1 ��%& 30245-2003 �D>D<?L
>644D4F=K=

�40x2 ��%& 30245-2003
%245 ��%& 27772-2021 L= 28000 9 64,68 582,12

��1 ��%& 8240-97
,65??5D E

?4D4??5?L=K<<
7D4=O<< ?>?>>

[12� ��%& 8240-97
%245 ��%& 27772-2021 L= 6000 20 62,40 1248

��2 ��%& 8240-97
,65??5D E

?4D4??5?L=K<<
7D4=O<< ?>?>>

[12� ��%& 8240-97
%245 ��%& 27772-2021 L= 6200 6 64,48 386,88

�1 ��%& 19903-2015 �<EF
410x100 ��%& 19903-2015

%245 ��%& 27772-2021 L= 100 28 0,79 22,12

�2 ��%& 19903-2015 �<EF
45x60 ��%& 19903-2015
%245 ��%& 27772-2021 L= 150 28 0,36 10,08

�3 ��%& 19903-2015 �<EF
410x250 ��%& 19903-2015

%245 ��%& 27772-2021 L= 250 10 4,91 49,1

�4 ��%& 19903-2015 �<EF
410x200 ��%& 19903-2015

%245 ��%& 27772-2021 L= 250 18 3,93 70,74
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